
PAGE 1 OF 9� 1121 IH-9689

ALUMINUM GAS CYLINDER 
CABINET – HORIZONTAL

1-800-295-5510
uline.com

H-9689

PARTS

TOOL NEEDED

11 mm Wrench

Left Side Panel x 1 Right Side Panel x 1 Back Panel x 1 Door Panel x 1

Top Panel x 1 Shelf x 4
Hinge x 2

1/4-20 x 0.625" Bolt x 16 1/4-20 x 2" Bolt x 8 1/4-20 x 2.75" Bolt x 16 Locking Nut x 40

Two Person Assembly 
Recommended

Para Español, vea páginas 4-6.
Pour le français, consulter les pages 7-9.



PAGE 2 OF 9� 1121 IH-9689

NOTE: Do not over-tighten bolts. Only use hand 
tools. Do not use power tools. 

1.	 Place left side panel on ground with flat side down. 

2.	 Attach back panel to side panel using four 1/4-20 x 2" 
bolts and nuts. (See Figure 1) 

Figure 1

Left Side Panel
Back Panel

3.	 Stand upright and attach right side panel to back 
using four 1/4-20 x 2" bolts and nuts. (See Figure 2) 

Figure 2

4.	 Lay cabinet down on back panel. 

5.	 Attach top panel to side and back panels using 
eight 1/4-20 x 0.625" bolts and nuts. Tighten bolts 
along the back panel only. Leave bolts toward the 
front of the cabinet loose. (See Figure 3) 

Figure 3

6.	 Insert slotted shelf into the cabinet, starting at the 
top, and bolt to the side panels using four 1/4-20 x 
2.75" bolts and nuts. Tighten the back two bolts only.  
(See Figure 4) 

Figure 4

7.	 Repeat step 6 for any additional shelves, including 
bottom shelf.

ASSEMBLY



PAGE 3 OF 9� 1121 IH-9689

8.	 Stand cabinet upright. 

9.	 Tighten all remaining bolts. 

10.	 Add hinges to the front right leg of the cabinet using 
two 1/4-20 x 0.625" bolts and nuts each. (See Figure 5) 

Figure 5

Front Right Leg

Hinge

11.	 Attach door panel to hinges using two 1/4-20 x 0.625" 
bolts and nuts each. (See Figure 6)

Figure 6

Door Panel

12.	 Ensure cabinet is settled properly and tighten all 
remaining bolts.

ASSEMBLY CONTINUED

1-800-295-5510
uline.com



PAGE 4 OF 9� 1121 IH-9689

GABINETE DE ALUMINIO 
PARA CILINDROS DE 
GAS – HORIZONTAL

800-295-5510
uline.mx

H-9689

PARTES

HERRAMIENTA NECESARIA

Llave de 11 mm

1 Panel Lateral Izquierdo 1 Panel Lateral Derecho 1 Panel Posterior 1 Panel de Puerta 

1 Panel Superior 4 Repisas
2 Bisagras

16 Pernos de  
1/4-20 x 0.625"

8 Pernos de  
1/4-20 x 2"

16 Pernos de  
1/4-20 x 2.75"

40 Tuercas de 
Seguridad

Se Recomienda Armar 
Entre Dos Personas



PAGE 5 OF 9� 1121 IH-9689

NOTA: No apriete los pernos demasiado. 
Use solo herramientas manuales. No use 
herramientas eléctricas. 

1.	 Coloque el panel lateral izquierdo en el piso con el 
lado plano hacia abajo. 

2.	 Una el panel posterior al panel lateral utilizando 
cuatro pernos de 1/4-20 x 2" y tuercas.  
(Vea Diagrama 1) 

Diagrama 1

Panel Lateral Izquierdo
Panel Posterior

3.	 Ponga de pie y una el panel lateral derecho a la 
parte posterior utilizando cuatro pernos de 1/4-20 x 2" 
y tuercas. (Vea Diagrama 2) 

Diagrama 2

4.	 Coloque el gabinete sobre el panel lateral. 

5.	 Una el panel superior a los paneles laterales y 
posterior utilizando ocho pernos de 1/4-20 x 0.625" y 
tuercas. Apriete los pernos solo en el panel posterior. 
Deje los pernos en la parte frontal del gabinete 
sueltos. (Vea Diagrama 3) 

Diagrama 3

6.	 Inserte la repisa ranurada en el gabinete 
comenzando desde la parte superior y una a 
los paneles laterales utilizando cuatro pernos de 
1/4-20 x 2.75" y tuercas. Apriete solo los dos pernos 
posteriores. (Vea Diagrama 4) 

Diagrama 4

7.	 Repita el paso 6 para cualquier repisa adicional, 
incluyendo la inferior.

ENSAMBLE



PAGE 6 OF 9� 1121 IH-9689

8.	 Ponga el gabinete de pie. 

9.	 Apriete todos los pernos restantes. 

10.	 Agregue las bisagras a la pata frontal derecha del 
gabinete usando dos pernos de 1.4-20 x 0.625" para 
cada una. (Vea Diagrama 5) 

Diagrama 5

Pata Frontal Derecha

Bisagra

11.	 Una el panel de la puerta a las bisagras utilizando 
dos pernos de 1/4-20 x 0.625" y tuercas para cada 
una. (Vea Diagrama 6)

Diagrama 6

Panel de 
Puerta

12.	 Asegúrese de que el gabinete esté colocado de 
manera adecuada y apriete todos los pernos 
restantes.

CONTINUACIÓN DEL ENSAMBLE

800-295-5510
uline.mx



PAGE 7 OF 9� 1121 IH-9689

ARMOIRE HORIZONTALE EN 
ALUMINIUM POUR BOUTEILLES 
À GAZ

1-800-295-5510
uline.ca

H-9689

PIÈCES

OUTIL REQUIS

Clé de 11 mm

Panneau latéral gauche x 1 Panneau latéral droit x 1 Panneau arrière x 1 Panneau de porte x 1

Panneau supérieur x 1 Tablette x 4
Charnière x 2

Boulon de  
1/4-20 x 0,625 po x 16

Boulon de  
1/4-20 x 2 po x 8

Boulon de  
1/4-20 x 2,75 po x 16

Écrou de  
blocage x 40

Montage à deux 
personnes recommandé



PAGE 8 OF 9� 1121 IH-9689

REMARQUE : Ne serrez pas complètement les 
boulons. Utilisez uniquement des outils à main. 
N'utilisez pas d'outils électriques. 

1.	 Placez le panneau latéral gauche au sol avec le 
côté plat orienté vers le bas. 

2.	 Fixez le panneau arrière au panneau latéral à l'aide 
de quatre boulons de 1/4-20 x 2 po et de quatre 
écrous. (Voir Figure 1) 

Figure 1

Panneau latéral gauche
Panneau arrière

3.	 Positionnez l'ensemble à la verticale, puis fixez le 
panneau latéral droit au panneau arrière à l'aide 
de quatre boulons de 1/4-20 x 2 po et de quatre 
écrous. (Voir Figure 2) 

Figure 2

4.	 Allongez l'armoire au sol sur sa face arrière. 

5.	 Fixez le panneau supérieur aux panneaux latéraux 
et arrière à l'aide de huit boulons de 1/4-20 x 0,625 
po et de huit écrous. Resserrez les boulons le long 
du panneau arrière uniquement. Ne serrez pas les 
boulons à l'avant de l'armoire. (Voir Figure 3) 

Figure 3

6.	 Insérez la tablette à fentes dans l'armoire depuis 
le haut, puis boulonnez-la aux panneaux latéraux 
à l'aide de quatre boulons de 1/4-20 x 2,75 po et 
de quatre écrous. Serrez les deux boulons arrière 
uniquement. (Voir Figure 4) 

Figure 4

7.	 Répétez l'étape 6 pour toutes les tablettes restantes, 
y compris la tablette inférieure.

MONTAGE



PAGE 9 OF 9� 1121 IH-9689

8.	 Positionnez l'armoire à la verticale. 

9.	 Serrez tous les boulons restants. 

10.	 Ajoutez des charnières au pied avant droit de l'armoire 
en utilisant deux boulons de 1/4-20 x 0,625 po et deux 
écrous par charnière. (Voir Figure 5) 

Figure 5

Pied avant droit

Charnière

11.	 Fixez le panneau de porte aux charnières à l'aide 
de deux boulons de 1/4-20 x 0,625 po et de deux 
écrous par charnière. (Voir Figure 6)

Figure 6

Panneau 
de porte

12.	 Assurez-vous que l'armoire est correctement 
positionnée, puis serrez les boulons restants.

MONTAGE SUITE

1-800-295-5510
uline.ca


